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IIT Semester B.Com. Degree Examination, March/April - 2021
COMMERCE
Financial Management
(CBCS Scheme Repeaters)
Paper : 3.4

Time : 3 Hours Maximum Marks : 70
Instructions to Candidates:

* Answer should be Completely in English or Kannada

SECTION - A
At AL S -

Answer any Five sub-questions each answer carries 2 marks. (5x2=10)
CIRYmRTTL 5§ WUT JINeR wuBdR B QVZTE 2 €08NT0.

1 a)
b)
¢)

d)

g)

What is meant by financial mix ?
DEOTAT 0T, 63 OB 2

Name two principles of financial plan. :
BEITAT GRS ITHE IRV B0

What is profit maximisation ?.

ST TOKFTTE 0BT ?

Name four sources of working capital.

T2, FICDFATS WOTDHE TRONTRY, BROA.

What is investment desition ?

BPRAE JGFT Q0TI ? _

Sales ¥.= 500,000 contribution .= 300,000. Calculate variable cost
Zwoets X.= 500,000, demort T.=300,000 wmeonoes 3303, BOTORRCD.

One investment of the project is ¥.=20,000 salvage value is 15% and its
additional working capital is ¥.=2,000. Calculate average investment.

odperded Bped T.=20,000 onw), «T0 wved SRy Be. 15% N3 TR0
FoODFATS Worw$ X.=2.000 ﬁ@m@ﬁ ploprile a@’m@%odmaq FOTHLROWD.
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' SECTION - B
QR - W |
Answer any Three questions, each answer carries 6 marks. _ (3x6=18)
CIRYTREIR W TINCNH LUZ0R. B eVBTE 6 LOBND.
2.  What are the different investment evaluation methods 7 -
TeRE FIETTHD BREOD PNTIY, SR
3. What do you mean by bonus shares ? State the advantages of bonus shares.
BRRRT WSO Q0BT 7 B[N IBLONTR), A
4. No. of units 500 selling price T.=40 P.V. variable cost T=15 PV and Fixed cost I=4000
Interest £.2500. Calculate financial lavarage.
Operating levarage.

PTNG Nesj’ 500 Snoees 33 T=40 2,000 wé&%@ 2B 523 =15 uocﬂa was%%
Nd 5323 ?—4000 we, T.2500 meavodm O=Tees® 5ozsaoo@cﬂaa

E‘OSJQF % 9=’
5. Project requires 2.75,000 initial investment for payable of an equipment. Its annual
" income before tax and depreciation is estimated. Tax Rate 20%

Ist year 3.=25,000 3rd year I.=45000

2nd year 3.=35,000 4th year ¥.=55000
Calculate present value if discount factor @9% is as follows.
Year 1 2 3 4

DF@%% 0917 0.841 0.712 .708
2,00 c3RexEoD @9,80%8 375,000 ST S5 0drexsSonon Bwocd B@te @08y S07
' %@odw@cﬁ%ﬁo&’ Semeo 33 0ed [T,

 RseFe IaF T=25,000 =edse IaE IT.=45000.
Q0BIe ImF T.=35,000 . me%gﬂe Z=e T.=55000

gont 3@ 20%
Calculate present value if discount factor @9% is as follows.
Year 1 2 3 4
DF@9%% 0917 0.841 0.712 .708

6. The following data selects to EM Co and ES Co.
Particulars EM ES
5% debentures 20000 --
Equity share capital
(Shares of .10 each) 250,000 250,000
ROI 60,000 65,000
Calculate E.P.S. of both companies.
EM 302 3020 ES 300 @0&d 33 068 am),

T EM ES
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10.

5% o0 BHNR 20000 [UY,
AR, FeTd WO
(38 Recd %.10) 250,000 250,000

Bead S ooyl (ROI) 60,000 65,000
B)& Feo3 ooy (E.P.S) 80Eeioud0.

SECTION - C
PR~ A

Answer any Three questions, each answer carries 14 marks. (3x14=42)
O3RPTETR B BJNER LI0R Bé wTE 14 50BN,
Explain various forms of dividend.
DG TRBT ToyIROBNTRY, SIOA.
Briefly explain the internal and external factors influencing capitla structure.
20T Te3Red Foee BomIR WeTHR 0308 WY W, VOBV ROETETN QTOAD.
The capital structure of the Quarantine Co Ltd consists of an equity share capital of
Z=10,00,000 (shares of T=10 per share) and ¥=10,00,000, 5% debenture sales increased
by 25% term 200,000 units to 250,000 units. Selling price is T.=10 per unit variable
cost T.=6 per unit and fixed cost amounts Z.=250,000 , income tax rate is 30%.
You are required to calculate.
1. The degree of financial leverage 200,000 units and 250,000 units
2. The degree of operating leverage 200,000 units and 250,000 units.
3RJES 2030 wommes 2.10,00,000 (I8 Heos 23S X.10) =02 3.10,00,000, 5%
OB, N, VR0 3B 25% oD, BHRNTIZT. @03 200,000 Pen@os 250,000
DUBRIR 208 IRoew B T.10 p.u BT &, .6 p-u AT 528,%.250,000 Clnplove
3on 3@ 30% TOWoRBCAD.

1. Bermeas O=des 200,000 gpeener 250,000 a;’g!ésﬁﬁ@ﬁ
7. meanrwcsE Omdes® 200,000 Fewnen 250,000 PeBnen

Co-vaccine company is considering the purchase of machine. The machine X and Y
each consting T.=400,000 are available. Earnings after X and depreciation is estimated
as follows. ‘

Year =~ X - DFE@15%
1 115,000 105,000 0.869
2 120,000 115,000 0.756
3 125,000 120,000 0.657"
4 115,000 130,000 0.572
5 110,000 120,000 0.497

[P.T.O.
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11.

Evaluate the projects (1) pay back period mathod (2) Net present value

Co-vaccine co. 2,003 0308, B, DBeORED ZOdF@NtSJ QTR [RTO 0303,NeDd YT,
2,8 008, 233 T=400,000 éa o308, Ci)ocﬁ %8 mr ATFY ==y 3ort-503T éa @eé
Clanlevo i eTaptarlantatal

RRE ooz, X - cdog, Y 3RS 0o 15%

1 115,000 105,000 0.869

2 120,000 115,000 0.756

3 125,000 120,000 0.657

4 115,000 130,000 0.572

5 110,000 120,000 0.497

CHOF TR, FROTOR. (1) Lowws &I TG (2) ARY BRI SPe)

Nova Ltd Company has equity share capital of Z.100,000 divided into 100 each. It
wishes to raise further .60,000 for expansion plans. The company has following
financial schemes.

(a) All Equity shares

(b) 50% equity shares balance 10% debentures

(c) .20,000 equity shares balance 10% debentures

The company has estimate EBIT of ¥.=30,000. The corporate tax is 50%
Calculate EPS is each case, give a comment.

S AEdE® FoTICD AORINT, RO worgmed R.100 Te. SN BeSodHd <.100,000
NPINTIZE. ToBAOTN 33, DITE odroemﬁmﬁ ?60 000 n¥sy wegmen faasnoécﬁ 9T B8
%@#ﬁowoa’ BEITORAD wdéodoﬁa o3Rez3 .

(@) QP ABEVER 5@63?1@05

(b) 3Jev® 50% uozﬁm@# AOTNT; SETONPOT o098 &3 10% MO T3,n9os

() .20,000. ORI, wet:bﬁ@od en VR 10% o3 neos

Fomod EBIT %‘.=30,000 FoRQ 3on Je. 50%

BT XS Ned ﬁ@%cﬁa&% a%im% W0 IR WOERY TN ARTTNT 39K,




